

October 16, 2020

Scott Tuma Project Manager City of League City 300 W. Walker St. League City, Texas 77573

RE:

Recommendation of Award for Resurfacing Project along:

Various Streets - Glen Cove Subdivision and various streets:

CIP# RE-1704E - Package # 5

City of League City Bid ITB 20-CIP-025

HR Green Job No. 191132

Dear Mr. Tuma,

Listed below is the summary of bids for the above referenced project. A total of two (2) bids were received on October 14, 2020.

Summary of Bids:

		Base Bid	Alternate #1	Alternate #2	<u>l otal Bid</u>
1.	Durwood Green	\$2,512,355.50	\$807,074.00	\$469,132.00	\$3,788,561.50
2.	Angel Brothers	\$2,628,196.91	\$855,148.31	\$445,433.34	\$3,928,778.56

We have reviewed the bids for completeness and accuracy. The lowest bid was submitted by Durwood Greene Construction in the amount of \$3,788,561.50. Their summation of the bid totaled to \$3,694,301.50, however our tabulation resulted in a final total of \$3,788,561.50. They have proposed to complete the base bid plus alternate #1 and #2 within 230 days.

We have checked the references submitted by Durwood Greene Construction and have received positive feedback based on past work history from owners who have worked with them. As such, we have determined that the bidder is qualified. Therefore, HR Green recommends that the City award the construction contract for this project to Durwood Greene Construction Co. in the amount of \$3,788,561.50.

The information contained herein and in the attached bid tabulation is provided to you for reference and use in your decision to award the Contract.

Please call me if you have any questions at 713.338.8004.

Sincerely,

nk Green, in

Project Manager

JESUS M. OLIVAS 93317

				BIDD DURWOOD GREEI		ANGEL I	DER 2 BROTHERS RPRISES	ENGINEEI	R'S ESTIMATE	AVERAGE	OF ALL BIDS
	A. Site Preparation Items - Master Base Bid			P.O. Box 1338 Stafford, TX 77497		P.O. Box 339 Bacliff, TX 77518		11011 Richmond Ave, Ste 200 Houston, TX 77042			
Item	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
1	Clearing and Grubbing, Complete in Place, In accordance with Drawings and Specifications	129	STA	\$1,200.00	\$154,800.00	\$1,400.00	\$180,600.00	\$250.00	\$32,250.00	\$1,300.00	\$167,700.00
2	Milling Existing Asphalt Pavement (2" to 5") (Existing Rdwy & Drwy), In accordance with Drawings and Specifications	7668	SY	\$6.00	\$46,008.00	\$8.00	\$61,344.00	\$6.00	\$46,008.00	\$7.00	\$53,676.00
3	Remove ACP Pavement and Base for Full Reconstruction (All depths)	20,652	SY	\$12.00	\$247,824.00	\$13.00	\$268,476.00	\$10.00	\$206,520.00	\$12.50	\$258,150.00
4	Excavation, In accordance with Drawings and Specifications	5,163	CY	\$20.00	\$103,260.00	\$25.00	\$129,075.00	\$8.00	\$41,304.00	\$22.50	\$116,167.50
		Subtotal for	Site Preparation		\$551,892.00		\$639,495.00		\$326,082.00		\$595,693.50
B. Pavement Items - Master Base Bid											
ltem	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
5	8" Asphalt Reclaim (Knollwood), In-Place Full Depth Cold Flexible Pavement Recycling. Including pulverization of existing material, application of cement slurry, mixing, shapiing, grading, compacting and curing. Complete in Place, In accordance with Drawings and Specifications	1551	SY	\$11.00	\$17,061.00	\$7.00	\$10,857.00	\$8	\$12,408.00	\$9.00	\$13,959.00
6	11" Asphalt Reclaim (Cove Park), In-Place Full Depth Cold Flexible Pavement Recycling. Including pulverization of existing material, application of cement slurry, mixing, shapling, grading, compacting and curing. Complete in Place, In accordance with Drawings and Specifications	5816	SY	\$14.00	\$81,424.00	\$7.50	\$43,620.00	\$10	\$58,160.00	\$10.75	\$62,522.00
7	Remove top 3" of Asphalt Reclaim Mix, Complete in Place, In accordance with Drawings and Specifications	7368	SY	\$4.00	\$29,472.00	\$13.00	\$95,784.00	\$5	\$36,840.00	\$8.50	\$62,628.00
	Cement Slurry for Asphalt Recycling (38lbs/SY), Complete in Place, In accordance with Drawings and Specifications. (Awarded vendor to submit a sample of specified items for inspection/approval by the office of the City Engineer prior to order placement.)	140.00	TONS	\$250.00	\$35,000.00	\$225.00	\$31,500.00	\$190	\$26,600.00	\$237.50	\$33,250.00
9	Crushed Aggregate Base Course (6") (As needed in Select Reclaim Areas at Knollwood and Cove Park), Complete in Place, In accordance with Drawings and Specifications.	2579	SY	\$22.00	\$56,738.00	\$20.00	\$51,580.00	\$22	\$56,738.00	\$21.00	\$54,159.00
10	Hot Mix - Hot Laid Asphaltic Concrete Pavement (Surface) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	2,944.00	Tons	\$110.00	\$323,840.00	\$122.00	\$359,168.00	\$120	\$353,280.00	\$116.00	\$341,504.00
11	Hot Mix - Hot Laid Asphaltic Concrete Pavement (Level-Up) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	2,944.00	Tons	\$110.00	\$323,840.00	\$122.00	\$359,168.00	\$120	\$353,280.00	\$116.00	\$341,504.00
12	Tack Coat (SS-1)(0.25Gal/SY), Complete in Place, In accordance with Drawings and Specifications	3,569	Gal	\$3.50	\$12,491.50	\$0.01	\$35.69	\$3	\$10,707.00	\$1.76	\$6,263.60



		ASPHALI KE	OUNTACING PI	ROJECT - BID TAB	ULATION						
13	Prime Coat (SS-1)(0.10Gal/SY), Complete in Place, In accordance with Drawings and Specifications	8,922	Gal	\$3.50	\$31,227.00	\$0.01	\$89.22	\$4	\$35,688.00	\$1.76	\$15,658.11
14	Base Repair Asphaltic Concrete Base Course (At Select Areas)(10" Black Base)(1100 lbs/SY), Complete in Place, In accordance with Drawings and Specifications	2,595.00	Tons	\$100.00	\$259,500.00	\$122.00	\$316,590.00	\$140	\$363,300.00	\$111.00	\$288,045.00
15	Reclaimed Asphalt Pavement (RAP) for Shoulder Dressing, In accordance with Drawings and specifications	129	STA	\$125.00	\$16,125.00	\$600.00	\$77,400.00	\$360	\$46,440.00	\$362.50	\$46,762.50
16	8" Base Crushed Limestone (Type A or B)(Grade 1-2), In accordance with Drawings and Specifications	20652	SY	\$30.00	\$619,560.00	\$20.00	\$413,040.00	\$25	\$516,300.00	\$25.00	\$516,300.00
17	6" Lime Treated Subgrade, in accordance with Drawings and Specifications	20652	SY	\$5.00	\$103,260.00	\$7.00	\$144,564.00	\$7	\$144,564.00	\$6.00	\$123,912.00
18	Lime (Hydrated Lime)(Dry), In accordance with Drawing and Specifications	93.00	Tons	\$250.00	\$23,250.00	\$205.00	\$19,065.00	\$220	\$20,460.00	\$227.50	\$21,157.50
19	SW3P Rock Filter Dam (Install and Remove), Complete in Place, In accordance with Drawings and Specifications	126	LF	\$40.00	\$5,040.00	\$120.00	\$15,120.00	\$30	\$3,780.00	\$80.00	\$10,080.00
20	SW3P Reinforced Filter Fabric Barrier Fence (Install and Remove), Complete in Place, In accordance with Drawings and Specifications	252	LF	\$10.00	\$2,520.00	\$2.00	\$504.00	\$4	\$1,008.00	\$6.00	\$1,512.00
21	SW3P Inlet Protection Barrier (Install and Remove), Complete in Place, In accordance with Drawings and Specifications	100	LF	\$10.00	\$1,000.00	\$2.50	\$250.00	\$7	\$700.00	\$6.25	\$625.00
		Subtotal for	Pavement Items		\$1,941,348.50		\$1,938,334.91		\$2,040,253.00		\$1,939,841.71
		C. Construc	stion Traffic Cont	rol Items - Master Base	e Bid						
Item	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
22	Temporary Traffic Handling and Control & Flagmen	5	Mo.	\$2,000.00	\$10,000.00	\$8,000.00	\$40,000.00	\$7,000.00	\$35,000.00	\$5,000.00	\$25,000.00
	Subtotal for Construction Traffic Control Items	•			\$10,000.00		\$40,000.00		\$35,000.00		\$25,000.00
		D. Signing a	nd Pavement Mar	king Items Master Bas	se Bid						
Item	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
23	2-Way Blue Reflective Marker, Complete in Place, in accordance with Drawings and Specifications	23	Ea.	\$15.00	\$345.00	\$6.00	\$138.00	\$140	\$3,220.00	\$10.50	\$241.50
24	Thermo Pvmt Marking (24-inch)(White)(Solid), Complete in Place, In accordance with Drawings and Specifications	187	LF	\$10.00	\$1,870.00	\$7.00	\$1,309.00	\$10	\$1,870.00	\$8.50	\$1,589.50
25	City Project Signs, Complete in Place, In accordance with Drawings and Specifications	2	Ea.	\$1,000.00	\$2,000.00	\$1,100.00	\$2,200.00	\$1,200	\$2,400.00	\$1,050.00	\$2,100.00
	y*										



	Subtotal for Sign and Pavement Marking Items	SURFACING PR				¢2 647 00		¢7 400 00		\$2 024 00		
	Subtotal for Sign and Pavellient Marking Items				\$4,215.00		\$3,647.00		\$7,490.00		\$3,931.00	
		E. St	upplemental Item	s - Master Base Bid								
Item	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	
26	Adjust Exist Manhole to grade, In accordance with drawings and Specifications	10	Ea.	\$400.00	\$4,000.00	\$420.00	\$4,200.00	\$1,000	\$10,000.00	\$410.00	\$4,100.00	
27	Adjust Existing Water Valves to grade, In accordance with Drawings and Specifications	6	Ea.	\$150.00	\$900.00	\$420.00	\$2,520.00	\$1,500	\$9,000.00	\$285.00	\$1,710.00	
		Subtotal for Sup	pplemental Items		\$4,900.00		\$6,720		\$19,000		\$5,810	
	GF	RAND TOTAL MA	STER BASE BID		\$2,512,355.50		\$2,628,197		\$2,427,825		\$2,570,276	
	A. Site Preparation Items - Alternate #1											
Item	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	
1	Clearing and Grubbing, Complete in Place, In accordance with Drawings and Specifications	52	STA	\$900.00	\$46,800.00	\$1,200.00	\$62,400.00	\$250.00	\$13,000.00	\$1,050.00	\$54,600.00	
2	Milling Existing Asphalt Pavement (2" to 5") (Existing Rdwy & Drwy), In accordance with Drawings and Specifications	8177	SY	\$6.50	\$53,150.50	\$8.00	\$65,416.00	\$6.00	\$49,062.00	\$7.25	\$59,283.25	
3	Remove ACP Pavement and Base for Full Reconstruction (All depths)	5,054	SY	\$14.00	\$70,756.00	\$13.00	\$65,702.00	\$10.00	\$50,540.00	\$13.50	\$68,229.00	
4	Excavation, In accordance with Drawings and Specifications	1,264	CY	\$20.00	\$25,280.00	\$25.00	\$31,600.00	\$8.00	\$10,112.00	\$22.50	\$28,440.00	
		Subtotal for	Site Preparation		\$195,986.50		\$225,118.00	a	\$122,714.00		\$210,552.25	
		ı	3. Pavement Item	s - Alternate #1								
ltem	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	
5	Hot Mix - Hot Laid Asphaltic Concrete Pavement (Surface) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	1,092	Tons	\$110.00	\$120,120.00	\$122.00	\$133,224.00	\$120.00	\$131,040.00	\$116.00	\$126,672.00	
6	Hot Mix - Hot Laid Asphaltic Concrete Pavement (Level-Up) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	1,092	Tons	\$110.00	\$120,120.00	\$122.00	\$133,224.00	\$120.00	\$131,040.00	\$116.00	\$126,672.00	
7	Tack Coat (SS-1)(0.25Gal/SY), Complete in Place, In accordance with Drawings and Specifications	1,323	Gal	\$3.50	\$4,630.50	\$0.01	\$13.23	\$3.00	\$3,969.00	\$1.76	\$2,321.87	
8	Prime Coat (SS-1)(0.10Gal/SY), Complete in Place, In accordance with Drawings and Specifications	3,308	Gal	\$3.50	\$11,578.00	\$0.01	\$33.08	\$4.00	\$13,232.00	\$1.76	\$5,805.54	
9	Base Repair Asphaltic Concrete Base Course (At Select Areas)(10" Black Base)(1100 lbs/SY), Complete in Place, In accordance with Drawings and Specifications	1,454.0	Tons	\$100.00	\$145,400.00	\$122.00	\$177,388.00	\$140.00	\$203,560.00	\$111.00	\$161,394.00	
10	Reclaimed Asphalt Pavement (RAP) for Shoulder Dressing, In accordance with Drawings and specifications	52	STA	\$125.00	\$6,500.00	\$600.00	\$31,200.00	\$360.00	\$18,720.00	\$362.50	\$18,850.00	



		ASPHALT RES	SURFACING PI	ROJECT - BID TABL	ULATION						
11	8" Base Crushed Limestone (Type A or B)(Grade 1-2), In accordance with Drawings and Specifications	5054	SY	\$30.00	\$151,620.00	\$20.00	\$101,080.00	\$25.00	\$126,350.00	\$25.00	\$126,350.00
12	6" Lime Treated Subgrade, in accordance with Drawings and Specifications	5054	SY	\$6.00	\$30,324.00	\$7.00	\$35,378.00	\$7.00	\$35,378.00	\$6.50	\$32,851.00
13	Lime (Hydrated Lime)(Dry), In accordance with Drawing and Specifications	23	Tons	\$250.00	\$5,750.00	\$205.00	\$4,715.00	\$220.00	\$5,060.00	\$227.50	\$5,232.50
14	SW3P Reinforced Filter Fabric Barrier Fence (Install and Remove), Complete in Place, In accordance with Drawings and Specifications	266	LF	\$10.00	\$2,660.00	\$2.00	\$532.00	\$4.00	\$1,064.00	\$6.00	\$1,596.00
15	SW3P Inlet Protection Barrier (Install and Remove), Complete in Place, In accordance with Drawings and Specifications	50	LF	\$10.00	\$500.00	\$2.50	\$125.00	\$7.00	\$350.00	\$6.25	\$312.50
		Subtotal for	Pavement Items		\$599,202.50		\$616,912.31		\$669,763.00		\$608,057.41
C, Construction Traffic Control Items - Alternate #1											
Item	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
16	Temporary Traffic Handling and Control & Flagmen	1	Mo.	\$7,000.00	\$7,000.00	\$8,000.00	\$8,000.00	\$7,000.00	\$7,000.00	\$7,500.00	\$7,500.00
	Subtotal for C	onstruction Traf	fic Control Items		\$7,000.00		\$8,000.00		\$7,000.00		\$7,500.00
		D. Signing	and Pavement M	arking Items - Alternat	e #1						
Item	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
17	2-Way Blue Reflective Marker, Complete in Place, In accordance with Drawings and Specifications	7	Ea.	\$15.00	\$105.00	\$6.00	\$42.00	\$140.00	\$980.00	\$10.50	\$73.50
18	Thermo Pvmt Marking (24-inch)(White)(Solid), Complete in Place, In accordance with Drawings and Specifications	148	LF	\$10.00	\$1,480.00	\$7.00	\$1,036.00	\$10.00	\$1,480.00	\$8.50	\$1,258.00
19	City Project Signs, Complete in Place, In accordance with Drawings and Specifications	1	Ea.	\$1,000.00	\$1,000.00	\$1,100.00	\$1,100.00	\$1,200.00	\$1,200.00	\$1,050.00	\$1,050.00
	Subtotal for S	ign and Paveme	nt Marking Items		\$2,585.00		\$2,178.00		\$3,660.00		\$2,381.50
		E.	Supplemental Ite	ms - Alternate #1							
Item	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
20	Adjust Exist Manhole to grade, In accordance with drawings and Specifications	5	Ea.	\$400.00	\$2,000.00	\$420.00	\$2,100.00	\$1,000.00	\$5,000.00	\$410.00	\$2,050.00
21	Adjust Existing Water Valves to grade, In accordance with Drawings and Specifications	2	Ea.	\$150.00	\$300.00	\$420.00	\$840.00	\$1,500.00	\$3,000.00	\$285.00	\$570.00
		Subtotal for Sup	pplemental Items		\$2,300.00		\$2,940.00		\$8,000.00		\$2,620.00
		GRAND TOTAL	. ALTERNATE #1		\$807,074.00		\$855,148.31		\$811,137.00		\$831,111.16



			THE STATE OF	tems - Alternate #2	DEATION							
ltem	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	
1	Clearing and Grubbing, Complete in Place, In accordance with Drawings and Specifications	23	STA	\$900.00	\$20,700.00	\$1,200.00	\$27,600.00	\$250.00	\$5,750.00	\$1,050.00	\$24,150.00	
2	Remove ACP Pavement and Base for Full Reconstruction (All depths)	5,812	SY	\$14.00	\$81,368.00	\$13.00	\$75,556.00	\$10.00	\$58,120.00	\$13.50	\$78,462.00	
3	Excavation, In accordance with Drawings and Specifications	1,453	CY	\$20.00	\$29,060.00	\$25.00	\$36,325.00	\$8.00	\$11,624.00	\$22.50	\$32,692.50	
		Subtotal for	Site Preparation		\$131,128.00		\$139,481.00		\$75,494.00		\$135,304.50	
	B. Pavement Items - Alternate #2											
ltem	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	
4	Hot Mix - Hot Laid Asphaltic Concrete Pavement (Surface) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	480.00	Tons	\$110.00	\$52,800.00	\$122.00	\$58,560.00	\$120.00	\$57,600.00	\$116.00	\$55,680.00	
5	Hot Mix - Hot Laid Asphaltic Concrete Pavement (Level-Up) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	480.00	Tons	\$110.00	\$52,800.00	\$122.00	\$58,560.00	\$120.00	\$57,600.00	\$116.00	\$55,680.00	
6	Tack Coat (SS-1)(0.25Gal/SY), Complete in Place, In accordance with Drawings and Specifications	581	Gal	\$3.50	\$2,033.50	\$0.01	\$5.81	\$3.00	\$1,743.00	\$1.76	\$1,019.66	
7	Prime Coat (SS-1)(0.10Gal/SY), Complete in Place, In accordance with Drawings and Specifications	1,453	Gal	\$3.50	\$5,085.50	\$0.01	\$14.53	\$4.00	\$5,812.00	\$1.76	\$2,550.02	
8	Reclaimed Asphalt Pavement (RAP) for Shoulder Dressing, In accordance with Drawings and specifications	23	STA	\$125.00	\$2,875.00	\$600.00	\$13,800.00	\$360.00	\$8,280.00	\$362.50	\$8,337.50	
9	8" Base Crushed Limestone (Type A or B)(Grade 1-2), In accordance with Drawings and Specifications	5813	SY	\$30.00	\$174,390.00	\$20.00	\$116,260.00	\$25.00	\$145,325.00	\$25.00	\$145,325.00	
10	6" Lime Treated Subgrade, in accordance with Drawings and Specifications	5813	SY	\$5.00	\$29,065.00	\$7.00	\$40,691.00	\$7.00	\$40,691.00	\$6.00	\$34,878.00	
11	Lime (Hydrated Lime)(Dry), In accordance with Drawing and Specifications	26.2	Tons	\$250.00	\$6,550.00	\$205.00	\$5,371.00	\$220.00	\$5,764.00	\$227.50	\$5,960.50	
12	SW3P Reinforced Filter Fabric Barrier Fence (Install and Remove), Complete in Place, In accordance with Drawings and Specifications	54	LF	\$10.00	\$540.00	\$2.00	\$108.00	\$4.00	\$216.00	\$6.00	\$324.00	
13	SW3P Inlet Protection Barrier (Install and Remove), Complete in Place, In accordance with Drawings and Specifications	120	LF	\$10.00	\$1,200.00	\$2.50	\$300.00	\$7.00	\$840.00	\$6.25	\$750.00	
		Subtotal for	Pavement Items		\$327,339.00		\$293,670.34		\$323,871.00		\$310,504.67	
		C. Constr	uction Traffic Co	ntrol Items - Alternate	#2							
ltem	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	
14	Temporary Traffic Handling and Control & Flagmen	1	Mo.	\$7,000.00	\$7,000.00	\$8,000.00	\$8,000.00	\$7,000.00	\$7,000.00	\$7,500.00	\$7,500.00	



		construction Traff		ROJECT - BID TABL	\$7,000.00		\$8,000.00		\$7,000.00		\$7,500.00
D. Signing and Pavement Marking Items - Alternate #2											
Item	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
15	2-Way Blue Reflective Marker, Complete in Place, In accordance with Drawings and Specifications	3	Ea.	\$15.00	\$45.00	\$6.00	\$18.00	\$140.00	\$420.00	\$10.50	\$31.50
16	Thermo Pvmt Marking (24-inch)(White)(Solid), Complete in Place, In accordance with Drawings and Specifications	32	LF	\$10.00	\$320.00	\$7.00	\$224.00	\$10.00	\$320.00	\$8.50	\$272.00
17	City Project Signs, Complete in Place, In accordance with Drawings and Specifications	1	Ea.	\$1,000.00	\$1,000.00	\$1,100.00	\$1,100.00	\$1,200.00	\$1,200.00	\$1,050.00	\$1,050.00
	Subtotal for S	ign and Pavemer	nt Marking Items		\$1,365.00		\$1,342.00		\$1,940.00		\$1,353.50
E. Supplemental Items - Alternate #2											
Item	Description	Quantity	Unit	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
18	Adjust Exist Manhole to grade, In accordance with drawings and Specifications	5	Ea.	\$400.00	\$2,000.00	\$420.00	\$2,100.00	\$1,000.00	\$5,000.00	\$410.00	\$2,050.00
19	Adjust Existing Water Valves to grade, In accordance with Drawings and Specifications	2	Ea.	\$150.00	\$300.00	\$420.00	\$840.00	\$1,500.00	\$3,000.00	\$285.00	\$570.00
		Subtotal for Sup	plemental Items		\$2,300.00		\$2,940.00		\$8,000.00		\$2,620.00
		GRAND TOTAL	. ALTERNATE #2		\$469,132.00		\$445,433.34		\$416,305.00		\$457,282.67
			SUMMARY C	F TOTALS							
	GRAND TOTAL - MASTER BASE BID				\$2,512,355.50		\$2,628,196.91		\$2,427,825		\$2,570,276
	GRAND TOTAL - ALTERNATE #1				\$807,074.00		\$855,148.31		\$811,137.00		\$831,111.16
	GRAND TOTAL - ALTERNATE #2				\$469,132.00		\$445,433.34		\$416,305.00		\$457,282.67
	GRAND TOTAL AMOUNT				\$3,788,561.50		\$3,928,778.56		\$3,655,267		\$3,858,670

CALENDAR DAYS FOR COMPLETION - MASTER BID ONLY	140	Days	180	Days
CALENDAR DAYS FOR COMPLETION - MASTER BID PLUS ALTERNATIVE #1	185	Days	60	Days
CALENDAR DAYS FOR COMPLETION - MASTER BID PLUS ALTERNATIVE #2	185	Days	45	Days
CALENDAR DAYS FOR COMPLETION - MASTER BID PLUS ALT. #1 AND ALT. #2	230	Days	285	Days

19 le.